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Epic New Reaction

CH CEC tCHÉHÉB CH cc citzchactt iBi
A primary
halo alkane

Time capsule This is an S2
reactionthe halo alkane must
be primary to avoid an EZ

reaction

Making C C bonds allows us

to construct larger molecules
from smaller ones

tmajorg.at
organic synthesis






































































































Example

4,1
I equivalent of Nantz

2 Itr
t EEMEU

MI at t






































































































Alkynes the two orthogonal pi
bonds define alkyne
reactions

R CEC R
Same overall

personality as alkenes

A Reaction with 2 equivalents of k
Yee Br

Br
ReactionCH CEC H H c f canAnti Bf stop
here

I
CH CBE CH Br
Vicinal tetra halide

Yonnadjacent
carbon atoms






































































































B Reaction with 2 equivalents of H X

X ee Br

CH CE it feet
I Hee

CH Cela CH

Mechanism involves a cation intermediate

Markovnikov's rule followed
However the two X atoms always

end up on the same carbon










































































































c Conversion of a vicinal di halide

into an alkyne
H Br 2 equivalents

43 5,4
4
3 Is HE CECH

9
Vicinal di halide Note this alkyne

is at terminal

htIntend

Time capsule This is a

double EZ reaction






































































































When creating a terminal alkyne

you must use 3 equivalents of Nantz
as a first step AND you need a

second step that is mild acid Halite

H Br 2 equivalents

HE C d H IN He CEC H

Brit
I
l equivalent
NaNHz

H C CEC

eq equivalent
I 2 HyoU mild

CH CH Br CH Br H C LIC H

mild

Internal alkyne example

CH CHBr CHBr CH 29 VN
HzC CIC CH






































































































conversion of an alkane
to an alkyne

É
Brit

H it Br

iii

12eg Nantz

ÉEKÉ't

HEISEI't
Br

Racemic






































































































New Concept The following
species are in equilibrium
and the more stable species
is the keto form

H É HÉ H
H H

enol
form

keto
form

This process is called Favored
tautomerization as in

a co pi bondKeto enol tautomerization
is stronger than
a CI pi bond













































































































































































































ELIATeeth itHS

H C CECH H C CECH

H C CECH H C CECH






































































































YEAH HEH
HEH H its PTA
stern Little
strain stevie strain

HEEBECHH H C E EI
HNo real preference

HIDE H H C

ELI

Ysignificant I
steriz Highlystrain preferred



Terminal Alkyne Hydroboration

1. (sia)2BH

Example:

Summary:

Regiochemistry:

Stereochemistry:

C C HH3C

BH

H3C CH3

CH3

CH3

H3C

CH3

(sia)2BH

H

Products

transition state

2. H2O2 / HO

(Chemist opens 
flask and adds 
new reagent)

Keto-enol
tautomerization

2. H2O2 / HO






































































































He II
6

HE
H Bk

HC it TEHHE

The EO is on the
CH _ctÉÉiH c on the end

non Markovnikov































































































